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P
Identify & Write the Clues

Underline the correct clues in the given situation and write them correctly in the given model.

Leo bought 14 mushrooms. He ate 5 mushrooms. Now, he is left with 9 mushrooms.

A farmer has 15 cows on the farm. 8 of them slept. Now, 7 cows are awake.

Jack has 16 blue blocks and 19 red blocks. Olivia borrowed 7 red blocks from Jack.
Now, Jack is left with 12 red blocks.

There are 12 carrots and 14 mushrooms in a refrigerator. Mia used 6 mushrooms to
prepare salad. Now, there are only 8 mushrooms left in the refrigerator.




